
Local:

Data:Projeto:

Nome Proprietário:

Folha: Planta:

Responsável Técnico: ESCALACREA

ENGENHEIRO CIVIL

GLAUBER MARTINS
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Relação do aço

P1 P2 P3

P4 P5 P6

P7 P8

AÇO
N DIAM

(mm)

QUANT

(Barras)

UNIT

(cm)

C.TOTAL

(cm)

CA60 1 5.0 31 82 2542

2 5.0 211 78 16458

3 5.0 31 24 744

CA50 4 10.0 30 VAR VAR

5 10.0 38 317 12046

6 10.0 8 75 600

7 12.5 4 VAR VAR

8 12.5 4 317 1268

Resumo do aço

AÇO DIAM

(mm)

C.TOTAL

(m)

PESO + 10 %

(kg)

CA50

CA60

10.0

12.5

5.0

155.3

16.9

197.5

105.3

17.8

33.5

PESO TOTAL

(kg)

CA50

CA60

123.1

33.5

Volume de concreto (C-25) = 1.32 m³

Área de forma = 26.06 m²
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